Volumetric Blowdown Suppression System* (VBS II)

SM2011-501 Volumetric Blowdown Suppression Systemn I
MNo Part No Description
SM2011-501-87  VBS |l Sounds Element Replacement Parts Kit
SM2011-501-98 VBS |l Seal Gasket Replacement Parts Kit
SM2011-501-99  VBS Il Complete Replacement Parts Kit
SM2011.501-01  VBS Il Cap
SM2011-501-02  VBS |l Base
SM2011-501-03  VBS Il Casing
SM2011-501-04  VBS |l Internal Element
SM2011-501-05 VBS Il Deflector Target Plug
SM2011-501-08  VBS | Baffle Cone
*§ 7. SM2011-501-07 VBS Il Casing Gasket
*§ 8. SM2011-501-08 VBS |l Baffle Gasket
9. SM2011-500-09 VBS Exhaust Cap
10. SM2011-501-09 VBS |l Base Shroud
11, SM2011-501-10 VBS Il Stud 51618 x 11 5/8" Lg.
12.  SM7017-505 Hex Nut, 5/16" UNC
*+13.  SM2011-501-11  VBS Il Exhaust Sound Element Disc
14, SM7028-551 Lockwasher, 5/16"
15, SM2011-500-06  VBS Deflector
16. SM2011-501-12 VBS Il Exhaust Sound Element
17.  SM7024-501-05 Screw #10-16, 3/4" (6 Required)
18. SM7024.545-05 Screw #8, 3/4" (8 Required)
+ Included In Replacement Parts Kit For Sound Element replacements
§ Included In Replacement Parts Kit For Seal Gasket replacements
* Included In Replacement Parts Kit For Complete replacements

¥ »
+ |+
D ons Wik =

- _ Sandblasting Equipmen;

=g (757) 548 - 4842
et www.nortonsandblasting.com

* Patent Pending



